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Use additional reading time to go through the question paper, select the questions youn will answer
and decide which of them you will prioritise.
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Answer all questions.
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From each of the questions 1 to 40, pick one of the alternatives (1), (2), (3), (4) which you consider
is correct or most appropriate.
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Mark a cress (X) on the number corresponding to your choice in the answer sheet provided.
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Further instructions are given on the back of the answer sheet. Follow them carefully.
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Which of the following is the correct answer to complete the given bar according to the time signature?
*
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(1) A triplet of quavers (2) A duplet of crotchets
(3) A wiplet of croichets (4) A duplet of quavers
2. @08 & @18} 903 gnd edisle Bur Hed 7 __
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How many tones are there between the given notes? i
1 1
H 5 (2) 62 (3) 75 4) 8

R

[2 06 80P Ded. / us. 2 sl uniss / See page 2




OL/2020/41/STE-L, IX

-2

—

3.

8. & a8 ®.Bm dedhed Sedm 080 emid 8 exdd 30 verm dien,

e®® & B 300ed Ofrle®Bn eEdDIes0 Hode RO ¢?
BrIE SILULBsTen abaISSar seaamioais mEeuea s oD 6157
Which of these would be the enharmonic equivalent of the given note?
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What is the interval formed when the given notes are inverted? o

(1) Minor 34 (2) Perfect 5% (3) Minor 6% (4) Major 6™
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In a 2™ inversion chord which of these notes should be doubled?

(1) Tonic (2) Root (3 3d (4) 5%
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Which of these, is the appropriate Roman numeral for the given chord?
(1) 1b (2) ivb
3) vc (4) vic
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Which of these would correctly describe the given cadence?
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(2) Imperfect cadence in F Major
(4) Imperfect cadence in D minor

(1) Perfect cadence in D minor
(3) Plagal cadence in F Major
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The number of crotchet beats in the tied notes of the given music extract would be

TR
TR

3 7 4) 8

(1 5

@9985530 Th 02930 desd B0 0B emidn (V/ — 1) a5 edelges! dewlé 0difis emided S5H®

800w ¢8s ed ¢?

Qumienemn 7 oyeug Garl Belmbal CrmalleGast (V7-1) euenguled Opfledluiagen Bed Gprefs Gaml

Bev 6ihs e0auTd SHeupai LiL{Gb?

In the resolution of a Dominant 7% chord to the Tonic chord (V7 — I) which note is omitted in

the Tonic chord?
(1) 7th (2) Sth

(3) 3¢ (4) Root
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Which of these is the correct key of this passage?
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(1) B flat Major (2) F Minor (3) E flat Major (4)y C Minor
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How are the notes in the given illustration played?
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(1) Detached (2) Smoothly
(3) Held for its full length (4) Fast
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Which of the following compositions is in Triple time?
(1) Country Roads (2) T1have a dream
(3) All kinds of everything (4) You raise me up
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In which key is the National Anthem written?
(1) B flat Major (2) C Major (3) F Major (4) E flat Major
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Which of these would be correct when converting the given notes to oriental notation?
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(1) 686 080 (2) 56 0868 (3) 86 0fo0s (4) o586 obabe
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Which type of folk song does the given extract belong to?

aries’ (R0 @ B O @O Inne Dumbarai maha kalu galak yata
mrien] »OOEE 00 weE DO ......... Kanne karawalai rata hale bathata .........
(1) Goyam kavi (2) Pal kavi (3) Pathal kavi (4) Gal kavi
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In which of these plays is the song ‘©oeszn fozlil o®» included?

(1) Sri Wickrama Rajasinghe (2) Dutugemunu

(3) Sri Sangabo (4) Ramayanaya
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In which of the following is the given ornament illustrated, as it should be played?
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Which of these rhythms would match the given words?

Flowers. Flowers, fragrant and gay everywhere we see.
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In which musical is the song ‘Spoonful of sugar’ found?
(1) Wizard of Oz (2) Oklahoma (3) Sound of Music (4) Mary Poppins
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Which of these is correct?
(1) Modulation means change of key
(2) The flute is a transposing instrument
(3) Gershwin was a composer of siring Quartets
(4) Modulation means change of Pitch
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In a Sonata, the Minuet and Trio normally occurs in the
() 1% movement (2) 2™ movement (3) 3" movement (4) 4™ movement
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In which given illustration is the word ‘crushed note’ associated with?
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For which solo instrument with orchestra did Gershwin compose ‘Rhapsody in Blue’?

(1) Harp (2y Trumpet (3) Clarinet (4) Piano
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Which of the following instruments is also called ‘Hautbois’? :

(1) Cor Anglais (2) HominF (3) Oboe (4) Bassoon

Bemiembed dmm gt cobcan 0@ ¢ ©wWED HUSeR @@=t n@s! ¢?
Weieupeuenaubmiei lunGamGean @eifled Ligsiged GLL6D DiBaD LWSTUBSSS Falguidl e1GI7
Which of these can also be used as a practice pedal in a Pianoforte?

(1) UnaCorda (2) Sostenuto pedal (3) Soft Pedal (4) Damper Pedal
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Which of these compositions would print the Italian Term ‘Presto’ as it’s tempo ?

(1) Chopin’s Minute Valse (2) Beethoven’s 9% symphony

(3) Scott Joplin’s The Entertainer (4) Brahms Lullaby
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Which of these instruments is mot included in a chamber orchestra ?
(1) Trombone (2) Clarinet (3) Viola (4) Trumpet
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Which of these instruments is used to accompany Negro spirituals?

(1) Guitar (2) Mandolin (3) Banjo (4) Violin
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To which family of instruments does the xylophone belong?
(1) Percussion (2) Brass wind (3) Woodwind (4) String

& 18 2:8m Hesde Digma BEOD eMMBB - Hredtdes Bt mos ¢
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On which of these instruments is the given melody mot possible to be played?
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(1) Guitar (2) Trumpet (3) Piano (4) Recorder
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In which of the following instruments is the most effective ‘Glissando’ possible?

(1) Clarinet (2) Trombone (3) Bassdrum (4) Tuba

‘Beds) o @S ared Om IO BOB C{ed T DI ¢?
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Who composed the ballet ‘Swan Lake’?
(1) Tchaikovsky (2) Prokofiev (3) Stravinsky (4) Gershwin
.
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Which of these compositions was mot composed by Schubert?
(1) Gretchen at the spinning wheel (2) Liebestraum
(3) ErlKing (4) The Trout song

s eiBoried enit ab® am®enc 1feim®n3 eoldmd D1l B8O w088 edyedst By waBe Oles’
83 @t ¢?

UsiaumeiemaBbuieT GriGurelweliar Speamig oy susdndiem Faauise Qeuprlsrons aFissms
QaTaii_TBl alsdHHed eupsin L oubesb 6g? )

Which composition was written to commemorate the successful Russian defense against Napolean’s invasion
of Grande Armee?

(1) Handel’s Fireworks music (2) Tchaikovsky’s 1812 overture
(3) Gershwin’s Rhapsody in Blue (4) Verdi’s Aida
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Which of these is written for the Piano ?
(1) Bolero (2) Moonlight Sonata
(3) Fidelio (4) Four seasons
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Which of the following statements is correct?
(1) The viola sounds an octave lower than the violin
(2) The violais a transposing instrument
(3) Music for The Viola is written in the Alto clef
(4) The Lowest note which can be played on the viola is Middle C
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Which of these is at the top of the conductors score?
(1) String instruments (2) Wood wind instruments
(3) Brass instruments (4) Percussion instruments
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What is the use of notational software in music?
(1) Used to reproduce the sound of real music (2) Used to create sheet music
(3) Used to add extra sounds to music (4) Used to edit sound tracks and replay music

emIsIgusiod eenEs RS Diless,
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Contrapuntal style is associated with the
(1) Baroque period (2) Classical period (3) Romantic period (4) Modern period
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Who is recognized for making ‘baila’ grow into a well-known Sri Lankan popular music form?
(1) M.S. Fernando (2) C.T.Fernando
(3) Clarence Wijewardane (4) Wally Bastiansz
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